13000 GeV pp

tt
&~ -1 [ | T T | T T T T T TrT | Tt T TT T I L I '_I_
3107 E __ E
% — ttHT (ATLAS semileptonic ttbar) _
S L ]
-I—J'-H — _
g
flO"z = —
o - =
o) u .
g B ‘ ]
i \a i
10_3 = \@ —
— y ]
L tm ATLAS
10 — —a— Pythia 8.226 default =
Z Pythia 8.226 tune-1 ) ]
B Pythia 8.226 tune-2c - _
| Pythia 8.226 tune-2m |
10_5 — —
IR PO T TP PR TN PO R SN HPUIN SN PO AU SRR HPUN SN HRPU AP R NSRRI
: | T T T T | T T T T | IIIIIIII |:
2 = -
- r 1
< F ] | .
| | | "9 |
< . r M | —
e 1 - !
© B 1
'.C_U' |
m —
0.5 —

Rivet 3.1.10, = 300k events

mcplots.cern.ch [arXiv:1306.3436]

N




	Contents
	Page 1


